V ot ! /7
Racing Screensg

Produced with plastic material of great toughness
(almost unbrekable) and with the color from billet
plastic.

In order to set the case steady and firm, it is recommen-
ded that 3/4 of ts base its base is resting on the rack.

THE TOP CASES CARRY THE FOLLOWING ACCESSORIES:

R

1

Key lock

1

TOP CASES

With key lock Ref.: 0468

With rubber handle

Ref.: 1126

Rear opbening

350 mm
90 litros

520 mm

po 520 mm

With key lock Ref.: 2328

Ref.: 3108

Without key lock

Rear opening

400 mm
100 litros

%

Ref.: 0468 TRAY

Rear opening

Lock through handle

N

Side locks

Iron plate (all cases)

M6x40 fasteners DIN912 (all cases)

M6 nut DIN6923 (all cases)

M6 round cover (all cases)

0 IN|lO|U |~ wWw N

Wave support (all cases)

N N N N RS

With key lock [ SROVA ] .

Upper opening

90 litros

320 mm

With key lock [ #N0EIT0] .

Upper opening

60 litros

310 mm



https://www.motorcycleid.com/puig/

Produced with plastic material of great toughness
(almost unbrekable) and with the color from billet
plastic.

In order to set the case steady and firm, it is recommen-
ded that 3/4 of ts base its base is resting on the rack.

DESCRIPTION QTY.
M6x40 fasteners DIN912 (all cases)

Iron plate (all cases)

Wave support (all cases)

M6 nut DIN6923 (all cases)

O | bW | N

Al DD

M6 round cover (all cases)

TOP CASES

Rack @10 - @25mm




8

MOUNTING INSTRUCTIONS

METALLIC BASE FOR SUITCASE 2328/3108

L

N

Racling Screerrs

Z
©
o
To
™
-
Q
@

@6,5mm Drill




Vo 7/ 7

Racing Screers

MOUNTING INSTRUCTIONS

METALLIC BASE FOR SUITCASE 2328/3108
Ref.: 3506N

MOUNTING INSTRUCTIONS
If you are not mechanical, please contact a specialist workshop. MOTOPLASTIC no responsibility for damage caused by incorrect assembly of the product.

o oo
1

Rack

2 Plates (Supplied with the suitcase)
3 M6x20 DIN1001 screw

4 M6 DIN125/A washer
5

0 |00 |0 |~ =

M6 DIN6923 nut




) = 7/ 7

Hi-Tech Parts

M OUNTING I NSTRUCTI ONS

REF 3844N KIT BANDEJA MEGA BOX / MEGA BOX TRAY KIT

ID. DESCRIPTION QTY. REF.:
1 Aluminum tray 1 3844N
2 M6x15 DIN 1001 screw 4 M2TMO6015D1001N
3 M6 DIN 6923 nut 4 TUERCAEM6G-0213

Find out more about motorcycle luggage systems & saddlebags we have.


https://www.motorcycleid.com/luggage-systems-saddlebags.html



